Table 4. Anisotropic displacement parameters (Å2 x 103) for CRYSTAL 1: Holmquistite Greenbushes W. Australia.

    _______________________________________________________________________


atom
U11
U22
U33
U23
U13
U12
    _______________________________________________________________________

O1A
4(1)
7(1)
6(1)
-1(1)
0(1)
1(1)

O1B
4(1)
7(1)
6(1)
0(1)
0(1)
0(1)

O2A
4(1)
7(1)
6(1)
0(1)
0(1)
0(1)

O2B
4(1)
7(1)
4(1)
-1(1)
0(1)
0(1)

O3A
7(1)
7(1)
9(1)
0
0(1)
0

O3B
6(1)
8(1)
8(1)
0
0(1)
0

O4A
8(1)
6(1)
8(1)
0(1)
1(1)
3(1)

O4B
8(1)
6(1)
8(1)
1(1)
0(1)
-3(1)

O5A
5(1)
10(1)
6(1)
-3(1)
0(1)
0(1)

O5B
6(1)
10(1)
6(1)
3(1)
-1(1)
-1(1)

O6A
7(1)
11(1)
6(1)
3(1)
0(1)
-1(1)

O6B
7(1)
11(1)
6(1)
-4(1)
0(1)
1(1)

O7A
9(1)
4(1)
12(1)
0
0(1)
0

O7B
8(1)
5(1)
12(1)
0
0(1)
0

T1A
4(1)
4(1)
4(1)
0(1)
0(1)
0(1)

T1B
4(1)
4(1)
4(1)
0(1)
0(1)
0(1)

T2A
4(1)
4(1)
3(1)
0(1)
0(1)
1(1)

T2B
4(1)
4(1)
4(1)
0(1)
0(1)
-1(1)

M1
7(1)
6(1)
5(1)
0(1)
0(1)
0(1)

M2
5(1)
5(1)
5(1)
0(1)
0(1)
0(1)

M3
7(1)
4(1)
6(1)
0
0(1)
0

M4
20(2)
20(2)
13(1)
1(1)
4(1)
6(1)

    _______________________________________________________________________

The anisotropic displacement factor exponent takes the form:

    -2 (2 [ h2 a*2 U11 + ... + 2 h k a* b* U12 ]

Table 4. Anisotropic displacement parameters (Å2x 103)for CRYSTAL 2: Holmquistite HS119915 Siberia.

    _______________________________________________________________________


atom
U11
U22
U33
U23
U13
U12
    _______________________________________________________________________

O1A
5(1) 
7(1)
6(1) 
-1(1)
0(1) 
1(1)

O1B
5(1) 
9(1)
6(1) 
1(1)
-1(1) 
0(1)

O2A
5(1) 
7(1)
7(1) 
0(1)
0(1) 
1(1)

O2B
6(1) 
9(1)
4(1) 
0(1)
-1(1) 
-1(1)

O3A
7(1) 
8(1)
8(1) 
0
0(1) 
0

O3B
7(1) 
9(1)
8(1) 
0
-1(1) 
0

O4A
8(1) 
6(1)
8(1) 
-1(1)
1(1) 
3(1)

O4B
10(1) 
6(1)
7(1) 
0(1)
-1(1) 
-2(1)

O5A
7(1) 
10(1)
6(1) 
-4(1)
0(1) 
1(1)

O5B
7(1) 
10(1)
7(1) 
3(1)
0(1) 
-2(1)

O6A
9(1) 
11(1)
5(1) 
4(1)
-1(1) 
-1(1)

O6B
8(1) 
12(1)
5(1) 
-4(1)
0(1) 
0(1)

O7A
10(1) 
4(1)
13(1) 
0
0(1) 
0

O7B
9(1) 
7(1)
13(1) 
0
0(1) 
0

T1A
4(1) 
4(1)
3(1) 
0(1)
0(1) 
0(1)

T1B
5(1) 
5(1)
4(1) 
0(1)
0(1) 
0(1)

T2A
4(1) 
5(1)
4(1) 
0(1)
0(1) 
1(1)

T2B
6(1) 
6(1)
4(1) 
0(1)
0(1) 
-1(1)

M1
8(1) 
7(1)
5(1) 
0(1)
0(1) 
0(1)

M2
6(1) 
5(1)
5(1) 
0(1)
0(1) 
0(1)

M3
7(1) 
5(1)
6(1) 
0
0(1) 
0

M4
24(3) 
21(3)
15(2) 
3(2)
5(2) 
8(2)

    _______________________________________________________________________

    The anisotropic displacement factor exponent takes the form:

    -2 (2 [ h2 a*2 U11 + ... + 2 h k a* b* U12 ]

Table 4. Anisotropic displacement parameters (Å2x 103)for CRYSTAL 3: Holmquistite Siberia.

    _______________________________________________________________________


atom
U11
U22
U33
U23
U13
U12
    _______________________________________________________________________

O1A
7(1) 
6(1)
7(1) 
1(1)
0(1) 
0(1)

O1B
7(1) 
6(1)
7(1) 
-1(1)
0(1) 
-2(1)

O2A
6(1) 
7(1)
10(1) 
0(1)
-2(1) 
-1(1)

O2B
8(1) 
9(1)
8(1) 
1(1)
2(1) 
-1(1)

O3A
9(2) 
6(2)
10(2) 
0
0(1) 
0

O3B
5(2) 
12(2)
9(2) 
0
1(1) 
0

O4A
11(1) 
7(1)
11(1) 
-1(1)
0(1) 
3(1)

O4B
11(1) 
7(1)
8(1) 
2(1)
0(1) 
-2(1)

O5A
6(1) 
11(1)
10(1) 
-2(1)
2(1) 
0(1)

O5B
7(1) 
10(1)
9(1) 
3(1)
0(1) 
0(1)

O6A
10(1) 
11(1)
10(1) 
1(1)
0(1) 
0(1)

O6B
10(1) 
11(1)
11(1) 
-5(1)
0(1) 
-1(1)

O7A
10(2) 
4(2)
15(2) 
0
0(1) 
0

O7B
10(2) 
7(2)
14(2) 
0
-1(1) 
0

T1A
6(1) 
4(1)
7(1) 
-1(1)
0(1) 
0(1)

T1B
7(1) 
5(1)
6(1) 
0(1)
0(1) 
-1(1)

T2A
7(1) 
5(1)
6(1) 
0(1)
0(1) 
1(1)

T2B
6(1) 
7(1)
6(1) 
0(1)
0(1) 
-1(1)

M1
9(1) 
5(1)
7(1) 
0(1)
0(1) 
0(1)

M2
7(1) 
6(1)
7(1) 
0(1)
0(1) 
1(1)

M3
9(1) 
5(1)
8(1) 
0
0(1) 
0

M4
19(3) 
22(3)
13(3) 
1(3)
0(2) 
3(3)

    _______________________________________________________________________

    The anisotropic displacement factor exponent takes the form:

    -2 (2 [ h2 a*2 U11 + ... + 2 h k a* b* U12 ]

Table 4. Anisotropic displacement parameters (Å2x 103)for CRYSTAL 4: Holmquistite Rwanda.

    _______________________________________________________________________


atom
U11
U22
U33
U23
U13
U12
    _______________________________________________________________________

O1A
5(1) 
10(1)
8(1) 
-2(1)
-1(1) 
1(1)

O1B
6(1) 
7(1)
6(1) 
2(1)
0(1) 
-1(1)

O2A
6(1) 
6(1)
6(1) 
0(1)
1(1) 
1(1)

O2B
7(1) 
7(1)
3(1) 
-2(1)
-1(1) 
-1(1)

O3A
5(2) 
6(2)
12(2) 
0
0(1) 
0

O3B
9(2) 
10(2)
9(2) 
0
-1(1) 
0

O4A
9(1) 
6(1)
8(1) 
0(1)
1(1) 
2(1)

O4B
8(1) 
4(1)
9(1) 
0(1)
-1(1) 
-2(1)

O5A
6(1) 
7(1)
12(1) 
-2(1)
0(1) 
1(1)

O5B
8(1) 
7(1)
4(1) 
3(1)
1(1) 
-1(1)

O6A
9(1) 
10(1)
2(1) 
3(1)
1(1) 
0(1)

O6B
9(1) 
9(1)
10(1) 
-4(1)
0(1) 
1(1)

O7A
13(2) 
2(2)
12(2) 
0
1(2) 
0

O7B
10(2) 
9(2)
12(2) 
0
1(1) 
0

T1A
4(1) 
4(1)
3(1) 
0(1)
-1(1) 
0(1)

T1B
4(1) 
4(1)
4(1) 
0(1)
0(1) 
0(1)

T2A
4(1) 
4(1)
4(1) 
0(1)
0(1) 
0(1)

T2B
5(1) 
5(1)
5(1) 
0(1)
0(1) 
-1(1)

M1
8(1) 
6(1)
6(1) 
1(1)
1(1) 
0(1)

M2
5(1) 
3(1)
6(1) 
1(1)
0(1) 
0(1)

M3
6(1) 
5(1)
7(1) 
0
-1(1) 
0

M4
26(5) 
12(4)
26(5) 
3(3)
5(4) 
13(3)

    _______________________________________________________________________

    The anisotropic displacement factor exponent takes the form:

    -2 (2 [ h2 a*2 U11 + ... + 2 h k a* b* U12 ]

Table 4. Anisotropic displacement parameters (Å2x 103)for CRYSTAL 5: Holmquistite Zaire.

    _______________________________________________________________________


atom
U11
U22
U33
U23
U13
U12
    _______________________________________________________________________

O1A
5(1) 
10(1)
8(1) 
0(1)
0(1) 
1(1)

O1B
5(1) 
10(1)
8(1) 
0(1)
0(1) 
-1(1)

O2A
6(1) 
10(1)
8(1) 
-1(1)
-1(1) 
1(1)

O2B
6(1) 
9(1)
9(1) 
0(1)
0(1) 
0(1)

O3A
7(1) 
9(1)
10(1) 
0
0(1) 
0

O3B
7(1) 
8(1)
10(1) 
0
-1(1) 
0

O4A
11(1) 
8(1)
11(1) 
0(1)
-1(1) 
2(1)

O4B
10(1) 
9(1)
11(1) 
1(1)
1(1) 
-3(1)

O5A
8(1) 
13(1)
8(1) 
-5(1)
0(1) 
0(1)

O5B
8(1) 
12(1)
8(1) 
4(1)
0(1) 
-1(1)

O6A
10(1) 
15(1)
8(1) 
4(1)
0(1) 
-1(1)

O6B
10(1) 
14(1)
8(1) 
-4(1)
-1(1) 
1(1)

O7A
11(1) 
6(1)
16(1) 
0
1(1) 
0

O7B
11(1) 
7(1)
16(1) 
0
1(1) 
0

T1A
6(1) 
6(1)
5(1) 
0(1)
0(1) 
0(1)

T1B
6(1) 
6(1)
5(1) 
0(1)
0(1) 
-1(1)

T2A
6(1) 
7(1)
5(1) 
0(1)
0(1) 
1(1)

T2B
6(1) 
7(1)
6(1) 
0(1)
0(1) 
-1(1)

M1
7(1) 
6(1)
5(1) 
0(1)
1(1) 
0(1)

M2
6(1) 
6(1)
6(1) 
0(1)
0(1) 
0(1)

M3
7(1) 
5(1)
5(1) 
0
0(1) 
0

M4
17(2) 
19(2)
14(2) 
2(1)
3(1) 
5(1)

    _______________________________________________________________________

    The anisotropic displacement factor exponent takes the form:

    -2 (2 [ h2 a*2 U11 + ... + 2 h k a* b* U12 ]

Table 4. Anisotropic displacement parameters (Å2x 103)for CRYSTAL 6: Holmquistite Üto, Sweden.

    _______________________________________________________________________


atom
U11
U22
U33
U23
U13
U12
    _______________________________________________________________________

O1A
5(1) 
8(1)
6(1) 
-1(1)
0(1) 
0(1)

O1B
3(1) 
8(1)
5(1) 
0(1)
1(1) 
-2(1)

O2A
5(1) 
8(1)
5(1) 
0(1)
0(1) 
0(1)

O2B
3(1) 
7(1)
5(1) 
-2(1)
-1(1) 
0(1)

O3A
6(2) 
7(2)
9(2) 
0
0(1) 
0

O3B
6(2) 
8(2)
7(2) 
0
-2(1) 
0

O4A
9(1) 
7(1)
8(1) 
0(1)
0(1) 
3(1)

O4B
9(1) 
4(1)
8(1) 
2(1)
1(1) 
-2(1)

O5A
4(1) 
9(1)
8(1) 
-1(1)
0(1) 
1(1)

O5B
7(1) 
8(1)
3(1) 
3(1)
-2(1) 
-2(1)

O6A
6(1) 
10(1)
3(1) 
2(1)
1(1) 
-1(1)

O6B
7(1) 
11(1)
7(1) 
-4(1)
0(1) 
0(1)

O7A
13(2) 
2(2)
13(2) 
0
2(2) 
0

O7B
6(2) 
7(2)
11(2) 
0
1(1) 
0

T1A
4(1) 
4(1)
3(1) 
0(1)
-1(1) 
0(1)

T1B
4(1) 
4(1)
3(1) 
0(1)
0(1) 
-1(1)

T2A
5(1) 
5(1)
3(1) 
0(1)
-1(1) 
1(1)

T2B
5(1) 
5(1)
3(1) 
0(1)
0(1) 
-1(1)

M1
7(1) 
5(1)
4(1) 
0(1)
0(1) 
0(1)

M2
4(1) 
2(1)
3(1) 
1(1)
0(1) 
0(1)

M3
6(1) 
5(1)
4(1) 
0
0(1) 
0

M4
14(4) 
11(4)
14(4) 
2(3)
5(3) 
5(3)

    _______________________________________________________________________

    The anisotropic displacement factor exponent takes the form:

    -2 (2 [ h2 a*2 U11 + ... + 2 h k a* b* U12 ]

Table 4. Anisotropic displacement parameters (Å2x 103)for CRYSTAL 7: Holmquistite Norway.

    _______________________________________________________________________


atom
U11
U22
U33
U23
U13
U12
    _______________________________________________________________________

O1A
6(1) 
9(1)
6(1) 
0(1)
1(1) 
0(1)

O1B
3(1) 
10(1)
6(1) 
0(1)
2(1) 
-1(1)

O2A
4(1) 
7(1)
6(1) 
2(1)
0(1) 
0(1)

O2B
5(1) 
9(1)
8(1) 
-1(1)
-1(1) 
-1(1)

O3A
8(2) 
6(1)
14(2) 
0
1(1) 
0

O3B
7(2) 
9(1)
9(2) 
0
1(1) 
0

O4A
10(1) 
7(1)
8(1) 
-1(1)
1(1) 
3(1)

O4B
10(1) 
8(1)
9(1) 
3(1)
-1(1) 
-2(1)

O5A
5(1) 
11(1)
7(1) 
-3(1)
0(1) 
1(1)

O5B
6(1) 
11(1)
7(1) 
3(1)
1(1) 
-1(1)

O6A
7(1) 
12(1)
8(1) 
4(1)
-1(1) 
-1(1)

O6B
6(1) 
14(1)
7(1) 
-3(1)
-1(1) 
1(1)

O7A
13(2) 
4(1)
16(2) 
0
1(1) 
0

O7B
7(2) 
5(1)
15(2) 
0
0(1) 
0

T1A
4(1) 
5(1)
4(1) 
0(1)
-1(1) 
0(1)

T1B
4(1) 
5(1)
5(1) 
0(1)
1(1) 
-1(1)

T2A
5(1) 
5(1)
5(1) 
0(1)
0(1) 
1(1)

T2B
4(1) 
7(1)
4(1) 
0(1)
0(1) 
-1(1)

M1
7(1) 
6(1)
5(1) 
0(1)
0(1) 
0(1)

M2
5(1) 
6(1)
6(1) 
0(1)
0(1) 
0(1)

M3
8(1) 
5(1)
6(1) 
0
0(1) 
0

M4
18(3) 
20(2)
13(2) 
-1(2)
4(2) 
3(2)

    _______________________________________________________________________

    The anisotropic displacement factor exponent takes the form:

    -2 (2 [ h2 a*2 U11 + ... + 2 h k a* b* U12 ]

